MS — 391

RARIREL LAY

Il Semester B.Com. Examination, May/June 2013

(Repeaters) (Prior to 2011-12)
CONMMERCE

2.5 : Business Statistics

Time : 3 Hours Max. Marks : 90

Instruction : Answers should be written fully in English or in Kannada.

SECTION - A

Answer any ten sub-questions from the following. Each question carries 2 marks.
(2X10:20)
1. a) State any two objectives of statistics.
b) What are the uses of averages

c) Define median.

d) What do you mean by mean deviation

e) If Z=238.82, M =40 fina X.
f) If bxy = 0.8 and byx = 0.6 find 'r".
g) Mention the uses of correlation.

h) What is base year ?

i) What do you mean by factor reversal test ?

i} What are Quartiles ?

k) Find C.V., given that X = 56, variance = 144 of 60 items.

) Give two merits of mode.
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SECTION - B

Answerany 5 questions. Each question carries 5 marks. (5x5=25)

2. In a class the number of books issued to the students from the library were as
follows. |

No. of books issued | O 1

No. of students /7 112
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Find the average number of books issued to a student of the class.

3. Calculate median from the following data.

Central size

Frequency

B e - s ——— e rr omEa W - L. l —— - - -_—— - P— - am o m m

4. Calculate mean deviation from mean of the following data.

NN
2_0—[30 40] 50 [ 60 | 70

10 | 20 | 40 48!55 60 |

aa o

Marks (Less than) | 10

No. of students [ 4
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5. Calculate rank correlation from the following data :

T e m e e S
X |60 |34 {4050 |45 41 22771 J42 66 |

Yl75 32 13540 (46| 33|48 | 5043 | 41
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6. Calculate S.D. from the following data

bl

Age in years | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 |60-70
No. of persons 2 4 8 I 10 12 4 |

— - - —=a = P e =t e b — o — —-_—- -t —— —

/. Find mode by using grouping and analysis table from the data given below

B ]
20|3014Ol50 60]70 80 | 90

No. of students | 40 | 50 J 70 Q0 I 85 91

Marks
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8. Calculate the Quartile Deviation from the following data :

Weekly wages (in Rs.) | 0-20 | 20-40 | 40-60 | 60-80 | 80-100 [ 100-120 | 120-140
No. of workers ' 50 60 40 20

9. a) Find CVif X =129.25, ¢ = 100.23

b) Find X if CV = 40% variance = 144,
SECTION-C

Answer any three questions from this Section. Each question carries 15 marks.
(3x15-45)
10. Compute the mean and median from the following data

m 125 | 135 | 145 | 155 | 165 175 185 195

Frequency 48 72 | 116 60 38 22 3

11. Find from the following the most consistent Batsman and better run getter.

swrna [+ [ e[ o1 oo o

Batsman B 4 16 21 43 57 78 83 90 | 95

12. Obtain two Regression Equations and determine value of X if Y = 73.

o[l o]0 [l

Y 67 | 68 | 65 72 | 72 69 71

13. Find out if there is any relation between X and Y.

X |5 [15]25] 35 |45 5575
vy | 55 | 40 | 20 40 | 3% 22 18 |15
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14. From the following data find Fisher's Index Number and show how it satisfie
reversibility tests :

Base year Current year
Commodity —
Price }) | Qty. (units) Price ) | Qty.
A 10 20 12 25
B 8 14 10 22
C 20 8 25 10
D 18 8 20 7
E 35 8 30 10
F 22 9 25 8
WF’ hphaplet:te!
TN = X
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)
b) RTRO0D BTO3RENNE) O3RN 9
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d) RTOHO DWOT 0T ?

e) Z=238.82, M =40 ¢33 X dl BOTBI&EROO.

f) bxy =0.8=o2)byx =0.6 Shlaply #&ﬁouoddsﬁg{ BOTRY &&3O200.
g) “RBROWOT T LUBOSR NP SRR, |
h

)
)
) 20T éi)doumcﬁ WO OB 3 OTITERO 7
)
)

T390 TR DOTTERD 9

j) 3BT INGD IR ?

k) 2ToR0= 56, RTZ= 144, ZONEFROW 2,83 K023 60. VYN F5203000TC. V. SYST)
FOTBIEEBOA0D.
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TN -
CENTYTRTTR 5 TIRER YUZ0R. B3 TIN 5 LOBN. (5x5=25)
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Y | /5 32 35 40 46 33 4BISO 43 41
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7. 833N d@ 0BT LWBITOZ :a.,"cwaﬁbocbaigt FOTBIEBRCID. MO abei_.g @i@dmgﬁ ajéipja
RIUOOT DA

IOTNTO 20 | 30 § 40 | 50 | 60 70 80 90

QTLRENO 40 | 50 | 70 | 90 | 85 | 91 89 65

8. B33FTOR 22&SCU0T 3IBOHE T @d@éododiﬁodséo@ow&

mdwme(m n$O)| 0-20 | 20-40 | 40-60 | 60-80 | 80- 100 100 120 120 140
TONETT ,qoajz’s 20 30 50 60 80 40 20

9. a) X =129.25, ¢ =100.23 2z CV =7
b) CV =40%, 258=144 ston X = ?
SLION -
CSRRTWTR B BINTT LU0, B3 BIJ1 15 208M0. (3%x15=45
10. 333N E.'bb&oémod RTIAD TIBY WG TRD), FOTIE OO,

L E
waﬁé 48 | 72 | 11

2 60 | 38 | 22

11, 83 3$NT TI03D0T 030 LI, 3" E‘.ﬁm‘ daigt NYRORD. 5523% 2&63’ ST ézigs daig{ N/
LI, 3°; RO daﬂg{ F0TO&ECA0D.

233, 3 0 A .- 16 | 27 | 39 | 53 61 180|101 | 105

mw’doafB 0 21 4315778183 | 90 | 95

12. 35 39NT WOSNPoT TR AR z’é&aeﬁdsadﬁgi 2B, YI 3373, 338 XS aﬂdoﬁa@{
| B0 BOD.

o [s[o]w [ala ]

Y | 67 | 68 68 |72 ]| 72 | 69 | 71
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13. X DBy = Efa‘o’;ﬂ&uodwsi FOTRO&EBCID.

X
1
Y
14, L&0° STTE AU, 08 FOTELRTR, LT WITCREE: &”Oeiﬁ@@ TN TLTRATTIOT
SLRCOX.
weUnlSIntta
Ssaplala T ' —
| W |
HO(ER.) | Bowmmes(csnts nve)
| .
| o 10 20
i~ 8 14
I
5 20 8
& 18 8
= 35 8
DTS 22 9




